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ALTERNATE SEGMENT THEOREM

ofh AC o chird)

LPAL = £LCBA
M



CDS & AFCAT 2 2024 LIVE CLASS - MATHS - PART 3 EXAMS

b z
Q) In the given figure, if §=§=§, where ZDCQ = x, 3

ZBPC =y and ZDQC = z, then what are the values of ¥ = 2k o= tf’k r g fk
x, y and z, respectively? d

£c0§ — ('~ (1+2) - jgy° - 8K (mﬁu/h
. —~ gfe

P CBP

Zegp = 180°- (¢+0') “”J )
= [¢0" - 75

(@) 33°,44°and55° (0 36°,48°and60° LABC + LCBP = I¢0°
(c) 39°,52°and 65 (d) 42°,56° and 70 ZABC?P /8’00'?/<: I@’Do

LABC= 2k /
o~ /
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ZABC + ZADC = /#0° [Ar ) it a ‘ﬁd’ac Z ““MMQM)
K + &k = I180°

ITk = /60°
k= 14023’

/

)§ -

1 -3k = 8b°
szkc g9
Z:,fk = 600
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X z
Q) In the given figure, if §=§=§, where ZDCQ = x,

ZBPC =y and ZDQC = z, then what are the values of
x, y and z, respectively?

(@) 33°,44° and 55° (b) 36°,48° and 60°
(©) 39°,52° and 65° (d) 42°,56° and 70°

Ans: (b)
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M
p= 821"

PM :ﬁ‘/co?fo_

Two circles with centres 4 and B touch each other

internally, as shown in the figure given above. Their radii ~

are 5 and 3 units, respectively. Perpendicular bisector of djmp = AM @ (L RH S

AB meets the bigger circle in P and Q. What is the length )
of PO? PM = @ M (,mdw ehle
@ 26 b 34

© 46 @ 62 PG = arM = X3 - Yo ik
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Q)

Two circles with centres 4 and B touch each other
internally, as shown in the figure given above. Their radii
are 5 and 3 units, respectively. Perpendicular bisector of
AB meets the bigger circle in P and Q. What 1s the length
of PO?

@ 246 (b) /34
© 46 d 62

Ans: (c)
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ol T Same  Sefmenf
(ndeé In amﬁﬁmj)

b RBY — a'ndlt Sum

Q)

46“/

g0’ 95° = 857

/

8 (b) 50°
(c) 45° (d) 90°
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Q)

In the figure given above, what is ZBYX equal to?

(a) 8&5° (b) 50°
(c) 45° d) 90°

Ans: (a)
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Q)

anJ/e of/mifa To qwx/ NED

LABC= 507 } J"J/‘l ‘“bm‘wf
)

C LAvC = 50(5“00;_/

In the figure given above, O 1s the centre of the circle.
What 1s ZA0OC?

(@) 160° (b) 150°

(© 120° (d) 100°
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Q) B

In the figure given above, O is the centre of the circle.

What 1s L40C?
(a) 160° (b) 150°
(c) 120° (d) 100°

Ans: (d)



EXAMS

Q) In the figure given below, £ A= 80° and ZABC = 60°. BD
and CD bisect angles B and C respectively. What are the
values of x and y respectively ?

(@) 10and 130 (b) 10and 125
y{ 20 and 130 (d) 20and 125
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Q) In the equilateral triangle ABC given below, AD =DB and
AE=EC. If /1s the length of a side of the triangle, then what

1s the area of the shaded region?

A ) and € are mid- fﬂonfS/
- ~N B
SR {A A;;L wi/fgii n f‘?"rﬁ‘m)
side
o HBE w 2 bADE:Of ; ohsc= L,
© 3?232 d %2 Mvor o Jres 07/ _ Aves °7[
’ 5 ADL
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Q) In the equilateral triangle ABC given below, AD = DB and
AE =EC. If/1s the length of a side of the triangle, then what

1s the area of the shaded region?

A
D E

B C

33 /2 372
b -

@ 6 ® 75
33 2 372
() (d) —
32 32

Ans: (a)

=]
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Q) In the figure given below, PQR is a non-isosceles right-
angled triangle, right angled at Q. If LM and QT are parallel
and QT =PT, then what 1s ZRLM equal to ?

P

» LMK 18
o (80" ) +( 4
Q L g LLRM = ©
@ £PQT( & ZIRM eadl

(c) ZRML (d) ZQPT
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Q) In the figure given below, PQR is a non-isosceles right-
angled triangle, right angled at Q. If LM and QT are parallel
and QT =PT, then what 1s ZRLM equal to ?

P
T
M
R
Q L
(@) Z£PQT (b) ZLRM
(©) ZRML (d) ZQPT

Ans: (b)
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Q)
0 0 fe Sum
-0 = (0° (M
24 + 18 ( d _ »AC)
2K = o
4=0
In the figure given above, AD = CD = BC. What is the value 4
(@) 32° . _1pa® (Apear
o 06 # (140"~ 20) + %— -l ' 2

© 78 ———— 3 — = bH°
:76 ;7 0:% L’
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Q)
C 960

A I D B

In the figure given above, AD = CD = BC. What is the value
of £ CDB
(@) 32°

(b) 64°
© 78

Ans: (b)
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Q)In a triangle ABCif A — B = g then C+ 2B is equal to
| B W) o
@ 2 ®)
3 4
_ (B+¢
n A o0~ (81¢)
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Q)In a triangle ABCif A — B= g then C+ 2B is equal to
3n
@ 2 O
3
1"
() m d =

Ans: (d)
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Q)If the bisectors BI and CI of the angles B and C ofa AABC
meet at the point I, then what 1s ZBIC equal to?

(@) 24 ®) 90+
A
() 90°- > (d) 90°+A4
A

B (40" + i,)
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Q)If the bisectors Bl and CI of the angles B and C ofa AABC
meet at the point I, then what 1s ZBIC equal to?

@ 24 ®) 90+
A
(c) 90°— = (d) 90°+A4

Ans: (b)
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Q)For a triangle, the radius of the circumcircle is double the
radius of the 1nscribed circle, then which one of the
following 1s correct ?

(@) The triangle is aright-angled
(b) The triangle 1s an 1sosceles
The triangle is an equilateral

(d) None of the above cach e o][ fr,}uU/Q = 4 [ié
NN

' 0 e k
( radivs 07/ ingede = k4 rodrws v/ ol rout) checle 2 3 )
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Q)For a triangle, the radius of the circumcircle is double the
radius of the 1nscribed circle, then which one of the
following 1s correct ?

(a) Thetriangleis aright-angled
(b) The triangle 1s an 1sosceles
(c) The triangle 1s an equilateral
(d) None of the above

Ans: (c)



EEEEE

Q) Consider the following statements
,,(I The perpendicular bisector of a chord of a circle does
not pass through the centre of the circle.
J¥ The angle in a semi-circleis a right angle.
Which of the statements given above is/are correct?

(@) OnlyI Jszj OnlyII
(c) BothIandlII (d) Neither InorlIl




Q) Consider the following statements
L The perpendicular bisector of a chord of a circle does
not pass through the centre of the circle.
II. The angle in a semi-circleis a right angle.
Which of the statements given above is/are correct?

(@) Onlyl (b) Onlyll
(c) BothIandlII (d) Neither InorlIl

Ans: (b)



Q)The side AC of a AABC is produced to D such that BC =
CD.If AACB is 70°, then what is A4DB equal to?

’_K..

G 3 o) a5 ol PP
(c) 70° (d) 110°
A
D BCD/ ;
a?% f//()o b /g'O
30? ( 0
g Y - 3%
~ I ~ )
B A 0 R
_ ‘I/‘o ’.
AR



Q) The side AC of a AABC is produced to D such that BC =
CD.If AACB 15 70°, then what is AADB equal to?

(a) 35° (b) 45°
() 70° d) 110°

Ans: (a)



Q) Consider the following statement in respect of an equilateral

AABC.

I There 1s a point P inside the AABC such that each of its
sides subtends an angle of 120° at P.

II. Thereis apoint P inside the A 4BC such that the A PBC
is obtuse angled and A 1s the orthocentre of APBC.

Which of the above statements is/are correct?

(@) Onlyl (b) OnlylIl

(c) BothIandII (d) Neither InorII



Q) Consider the following statement in respect of an equilateral

AABC.

I There 1s a point P inside the AABC such that each of its
sides subtends an angle of 120° at P.

II. Thereis apoint P inside the A 4ABC such that the A PBC
is obtuse angled and A 1s the orthocentre of APBC.

Which of the above statements is/are correct?

(@) Onlyl (b) OnlylIl

(c) BothIandII (d) Neither InorII

Ans: (a)



Q) In the figure given below, what is the sum of the angles
formed around 4, B, C except the angles of the AABC?

(a) 360° (b) 720°
() 900° (d) 1000°



QIn the figure given below, what is the sum of the angles
formed around 4, B, C except the angles of the AABC?

(a) 360° (b) 720°
() 900° (d) 1000°

Ans: (c)



Q) Consider the following statements

I If the diagonals of a parallelogram ABCD are
perpendicular, then ABCD may be a rhombus.

[I. If the diagonals of a quadrilateral ABCD are equal and
perpendicular, then ABCD 1s a square.
Which of the statements given above 1s/are correct?

(@) OnlyI (b) OnlylIl

(¢) BothIandII (d) Neither I norII



Q) Consider the following statements

I If the diagonals of a parallelogram ABCD are
perpendicular, then ABCD may be a rhombus.

[I. If the diagonals of a quadrilateral ABCD are equal and
perpendicular, then ABCD 1s a square.
Which of the statements given above 1s/are correct?

(@) OnlyI (b) OnlylIl

(¢) BothIandII (d) Neither I norII

Ans: (c)



Q) A ADEF is formed by joining the mid-points of the sides of
AABC. Similarly, a APQOR 1s formed by jomning the mid-points
of the sides of the ADEF. If the sides of the APQOR are of
lengths 1, 2 and 3 units, what 1s the perimeter of the AABC?
(a) 18units (b) 24 unaits
(¢) 48units (d) Cannotbe determined



Q) A ADEF is formed by joining the mid-points of the sides of
AABC. Similarly, a APQOR 1s formed by jomning the mid-points
of the sides of the ADEF. If the sides of the APOR are of
lengths 1, 2 and 3 units, what 1s the perimeter of the AABC?
(a) 18units (b) 24 unaits
(¢) 48units (d) Cannotbe determined

Ans: (b)



Q) InaAABC, AD 1s the median through 4 and E 1s the m1d—
point of AD and BE produced meets AC at F. Then, AF 1s
equal to
(@ AC/S (b)y AC/4
() AC/3 (d)y AC/2




Q) InaAABC, AD is the median through 4 and £ 1s the mid—

point of AD and BE produced meets AC at F. Then, AF 1s
equal to

(@ AC/S (b)y AC/4

() AC/3 (d)y AC/2

Ans: (c)



Q) The angles of a triangle are in the ratio4 : 1 : 1. Then the
ratio of the largest side to the perimeter 1s

2 1
@ 3 ® 375
N 2

(©) 2+J§ (@) 1+\/§



Q) The angles of a triangle are in the ratio4 : 1 : 1. Then the
ratio of the largest side to the perimeter 1s

2 |
@ 3 ® 375

\/§ 2
(©) 2+J§ (@) 1+\/§

Ans: (c)



Q)Based on the figure below, what is the value of x, if y = 10

x+4

(@) 10 o (b) 11
() 12 (d) None of these



Q)Based on the figure below, what is the value of x, if y = 10

x+4

(@) 10 h (b) 11
() 12 (d) None of these

Ans: (b)



Q) A closed polygon has six sides and one of its angles 1s 30°
greater than each of the other five equal angles. What is the
value of one of the equal angles?

(@) 355° (b) 115°
(c) 150° (d) 175°



Q) A closed polygon has six sides and one of its angles 1s 30°
greater than each of the other five equal angles. What is the
value of one of the equal angles?

(@) 355° (b) 115°
(c) 150° (d) 175°

Ans: (b)



Q) In the figure given below, AC 1s parallel to ED andAB =DE
=5 cm and BC =7 cm. What is the area ABDE : area BDE :
arca BCD equal to ?

E 5cm D

A Scm B 7cm C

(@ 10:5:7 (b) 8:4:7
(¢c) 2:1:2 (d) 8:4:5



Q) In the figure given below, AC 1s parallel to ED andAB =DE
=5 cm and BC =7 cm. What is the area ABDE : area BDE :
arca BCD equal to ?

E Scm D
A Scm B 7cm C
(@ 10:5:7 (b) 8:4:7
(¢c) 2:1:2 (d) 8:4:5

Ans: (a)



Q) Let ABCD be arectangle. Let P, Q, R, S be the mid-points of
sides AB, BC, CD, DA respectively. Then the quadrilateral
PQRSisa
(a) Square
(b) Rectangle, but need not be a square
(c) Rhombus, but need not be a square
(d) Parallelogram, but need not be a rhombus



Q) Let ABCD be arectangle. Let P, Q, R, S be the mid-points of
sides AB, BC, CD, DA respectively. Then the quadrilateral
PQRSisa
(a) Square
(b) Rectangle, but need not be a square
(c) Rhombus, but need not be a square
(d) Parallelogram, but need not be a rhombus

Ans: (c)



Q) If a quadrilateral has an inscribed circle, then the sum of a
pair of opposite sides equals
(a) Halfthe sum of'the diagonals
(b) Sum of the other pair of opposite sides
(c) Sum of two adjacent sides
(d) None of the above



Q) If a quadrilateral has an inscribed circle, then the sum of a
pair of opposite sides equals
(a) Halfthe sum of'the diagonals
(b) Sum of the other pair of opposite sides
(c) Sum of two adjacent sides
(d) None of the above

Ans: (b)



Q) A square 1s inscribed in a right-angled triangle with legs p
and q, and has a common right angle with the triangle. The
diagonal of the square 1s given by

Pq P4
(@) p+2q (b) 2p+q
2
o 2o @ —

pPtq prq



Q) A square 1s inscribed in a right-angled triangle with legs p
and q, and has a common right angle with the triangle. The
diagonal of the square 1s given by

pPq pPq

(a) p+2q (b) 2p+q
© \/qu d 2pq
pt+q ptq

Ans: (c)



Q) A rhombus is formed by joining midpoints of the sides ofa
rectangle in the suitable order. If the area of the rhombus is
2 square units, then the area of the rectangle 1s

(@) 2./2 squareunits  (b) 4 square units
(¢) 4.2 squareunits  (d) 8 square units



Q) A rhombus is formed by joining midpoints of the sides ofa
rectangle in the suitable order. If the area of the rhombus is
2 square units, then the area of the rectangle 1s

(@) 2./2 squareunits  (b) 4 square units
(¢) 4.2 squareunits  (d) 8 square units

Ans: (b)



Q) ABCD is a parallelogram with AB and AD as adjacent sides.
If ZA=60° and AB =2AD, then the diagonal BD will be

equal to

@ 2AD (b) 3AD
(c) 2AD (d) 3AD



Q) ABCD is a parallelogram with AB and AD as adjacent sides.
If ZA=60° and AB =2AD, then the diagonal BD will be

equal to

@ 2AD (b) 3AD
(c) 2AD (d) 3AD

Ans: (b)



Q) In the figure given below, PQRS is a parallelogram. PA bisects
angle P and SA bisects angle S. What 1s angle PAS equal to ?

@) 60° (b) 75°
() 90° d) 100°



Q) In the figure given below, PQRS is a parallelogram. PA bisects
angle P and SA bisects angle S. What 1s angle PAS equal to ?

@) 60° (b) 75°
() 90° d) 100°

Ans: (c)



Q) The area of a rhombus with side 13cm and one diagonal
10 cm will be
(@) 140 square cm (b) 130 square cm
(¢) 120 square cm (d) 110 square cm



Q) The area of a rhombus with side 13cm and one diagonal
10 cm will be
(@) 140 square cm (b) 130 square cm
(¢) 120 square cm (d) 110 square cm

Ans: (c)



Q)In a trapezium, the two non-parallel sides are equal in
length, each being of 5 cm. The parallel sides are at a
distance of 3 cm apart. If the smaller side of the parallel
sides 1s of length 2 cm, then the sum of the diagonals of
the trapezium 1s

@ 10+/5cm (b) 6/5cm
(©) 5V5cm @ 3v5cm



Q)In a trapezium, the two non-parallel sides are equal in
length, each being of 5 cm. The parallel sides are at a
distance of 3 cm apart. If the smaller side of the parallel
sides 1s of length 2 cm, then the sum of the diagonals of
the trapezium 1s

@) 10+/5cm (b) 6/5cm
(©) 5v5cm d) 3vJ5cm

Ans: (b)



Q) In the figure given above, ABCD is a trapezium. EF

parallel to AD and BG. £y 1s equal to

D

A
X y
1208
E - F
- 90° 500
B C
(@) 30° (b) 45°

(c) 60° (d) 65°



Q)In the figure given above, ABCD is a trapezium. EF

parallel to AD and BG. £y 1s equal to

D

A
X y

1208
E - F

- 90° 500

B C
(@) 30° (b) 45°
(c) 60° d) 65°

Ans: (c)



Q) ABCD 1s a trapezium with parallel sides 4B =2 ¢cm and DC =
3 cm. E and [ are the mid-points of the non-parallel sides. The
ratio of area of ABFE to area of EFCD 1is
@ 9:10 (b) 8:9
(c) 9:11 d 11:9



Q) ABCD 1s a trapezium with parallel sides 4B =2 ¢cm and DC =
3 cm. E and [ are the mid-points of the non-parallel sides. The
ratio of area of ABFE to area of EFCD 1is
@ 9:10 (b) 8:9
(c) 9:11 d 11:9

Ans: (c)



Q) If the diagonals of a quadrilateral are equal and bisect each
other at right angles, then the quadrilateral 1s a
(a) rectangle (b) square
(¢) rhombus (d) trapezium



Q) If the diagonals of a quadrilateral are equal and bisect each
other at right angles, then the quadrilateral 1s a
(a) rectangle (b) square
(¢) rhombus (d) trapezium

Ans: (b)



Q) In the figure given below, ABCD is a parallelogram. P is
a point in BC such that PB : PC =1 : 2. DP produced
meets AB produced at Q. If the area of the ABPQ is 20
sq units, what 1s the area of the ADCP?

A B

Q

D C
(@) 20 sq units (b) 30 sq units
(¢) 40 sq units (d) None of these



Q) In the figure given below, ABCD is a parallelogram. P is
a point in BC such that PB : PC =1 : 2. DP produced
meets AB produced at Q. If the area of the ABPQ is 20
sq units, what 1s the area of the ADCP?

A B
Q
D C
(@) 20 sq units (b) 30 sq units
(¢) 40 sq units (d) None of these

Ans: (d)



Q) In the given figure, ABCD is a quadrilateral with 4B
parallel to DC and AD parallel to BC, ADC 1s aright angle.
If the perimeter of the AABE 1s 6 units. What is the area
of the quadrilateral ?

A

D

-

60°

60°

(a) 2+/3 sq units

(c) 3 sq units

E

B

C

(b) 4 sq units
(d) 4.3 sq units



Q) In the given figure, ABCD is a quadrilateral with 4B
parallel to DC and AD parallel to BC, ADC 1s aright angle.
If the perimeter of the AABE 1s 6 units. What is the area
of the quadrilateral ?

A

D

-

60°

60°

(a) 2+/3 sq units

(c) 3 sq units

Ans: (a)

E

B

C

(b) 4 sq units
(d) 4.3 sq units
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